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Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022
(Scheme NITTTR)
(Branch : Arch., Civil, CSE, Elect., EEE,

- Et & T, IT, Inst., IDD, Mining and Mine

Surveying) sy S
COMPUTER FUNDAMENTALS AND
APPLICATIONS ' '

Time : Three Hours] '_ [ Maxlmum Marks 70

~ [Minimum Pass Marks : 25
Note : Attempt any two questions from each Unit. All

questions carry equal marks. In case of any doubt or

dispute, the English versnon questlon should be
treated as final. |
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2&2»\5 __ 2. Write the shortcuts for the following functions : 7
_ (@) Co
_ py
1. Draw the block diagram of computer and eXplain OC ‘ _ (b) Cut
MU and ALU. Also differentiate between inpy, and - | (c) Print
output devices. 7 o (d) Save
%ﬁ%ﬂ%ﬁggﬁcﬂf () Paste
R W sy ?vﬁﬁ O:EE devices mw &ﬂ P e () Undo
IR WE PAT| “ (&) Find .
_ _w_ﬂ_w__ﬁm functions 8q shortcuts 901V *
2. State the various Qﬁom of momiﬁn. 5&@@0 ,ow g . (@) Copy
Mumwsﬁo is operating system ? Discuss the ?so:onm of 1 - ks () Cut
in detai 2 _ :
etail. - e Bl ~(c) Print
RS JoR @ wiredw ﬁ_.m,f Operating %maa S0 (d) Save -
@mﬁzﬁgﬂﬁfom&%ﬁ& i 4. (e) Paste’
mﬁﬁa%ﬁ@f b | s (@ Undo
. “ A Find
3. Define : Bit, B e o . ;
UNICODE t, .vanu ,Z_E,u_a éowﬁ_ ASCII, mwOUHO 3. State difference between the following : 7
Rasy N : 7 1l | (a) Spell check and Grammar check
Q_M____am_ BIY . Bit, wﬁn Z&Ea éo& >mdn *,. .+~ (b) Header and Footer .
EBCDIC, UNICODE - ° T ffaRed § oRR WE BN :
Sﬁﬂlﬁ R e Amv.. Spell oroormmnmaamn check
ﬁﬂm]ﬁv Siye syt s e i (b) Header TFooter
1. Define and d PR A ; UNIT—III
isth escribe any five msaam of MS-Word, What gt e o
onxanm_oz to save a word file j in computer ? - 7 - : _ ﬂ.ﬂmlﬂ@ : ,
Zm Word 3 Eﬂ% . : 1. State 90 w%mammam of using Zm-mxnn_ o<n_.
Word file @1 Mﬂ E&aﬂg .&._ mdj .&#Qd_ . , . conventional mmB m:m_wm_m tools. .
ﬁ%ﬂﬂw&_vﬁmﬂ Save' ﬁww@@.ﬁ o&ozm_on i 1R MS-Excel M%_ Eﬂzﬂ% -l maj GIIEN Sl dﬂ y
,ﬂ, RO ﬂﬁﬂdﬂ Data analysis tools § &R T g |

e g w
R B it o A ) DM . : P.T.O..
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[4] nooo,_;snnv

." How is a formula function defined in MS-Excel ? m§o
any five inbuilt formulas in MS- Excel.

MS-Excel § formula B @l q@ﬁwﬂ Y @.E
ST & ? MS-Excel @ {1 U inbuilt wossc_mw Gl
T B | |
.. Explain the a__%am“ , . 7
@ Cell ,
(b) Hyperlink
(c) Pi-chart
(d) Bar graph
(¢) Autosum
() Lookup .- - b
| (g) Operator precedence
fewferiaa ﬁ Y -
@@ Cell
(b) Hyperlink ,
() Pichat ik
" (d) Bargraph S
() - Autosum T
(® Lookup
() ORBHQ Eoo&gon X
4 UNIT—IV
(@m-1v)
(@) Q\s-ma. o b
(b) Slide :

(58] nogﬁo»amnv

(©)  Custom animaton
(d) Slide master

(e) Design template
(f)  Slide show

(8) Slide sorter
Fifefan ® wmmg -
(@) Clip-art

(b) Slide

(¢) - -Custom animation
(d) Slide master

(¢) Design template
® Slide show

(g) Slide sorter

2. Write steps to create a PowerPoint Presentation of your
~ institute. The presentation must contain text, pictures,

custom animation and embedded video in it. 7
AT ./n_./eﬁ .m,d PowerPoint ¥M # Wiha1 ®
XHEIFY | Presentation w text, picture, custom
animation U4 video embed T 1 i @ E.mﬁ ﬂ
T B

3. Fill 5 the blanks : , 7

R v @t gt g :
(8) wwwwwwn 18 @ formatting option that turns a
straight text into a slanting text.

et Formnatting option @ WANT ¥ W
aﬁﬁ.ﬁ o %ﬁmﬁ text § WRaffA &
E

P.T.0.
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(b) Times new Roman and Calibri are types of .........
Times-New Roman (& Calibri v P
PR §| .
() Print option appears under ... menu
ey menu & ¥ print option 55 ST g
(d) Save Asi is :mon to save an m:om% existing file.
b G,Eo\wm_mov
Uh Ugel ¥ save w_mmﬂ edit P TGRT mm<o%
i mw@a mm<o>mﬂ§§§w_
T (/)
(¢) Motion and sound is added to the slides by
using .......... _ .
Slides ¥ TR T &y ... @y ¥ wmie
faa it 2
(® A video can be nE_un&na to a slide in MS PPT.
A,D.cm\mm_mov
MS PPT # Vedio & %ﬂ T T & |
g (et / ere)
(8)  Collection of slides is called @ .......... .
Slides & I8 B ... oel W Rl
UNIT—V .

(E@TE—V)
1. Define various types of Network .in %8__ State Ea
Em’ﬂdzoo between internet and intranet. 7

A%ﬂﬁza»ﬁﬂﬁmﬁza%%@ﬂ

Internet 9 Intranet ¥ 3R W HIfTg | E

A

.

n ., u,. Mw.\

Fa il

2000176(022)

_State the use of firewalls, Explain the types of viruses.

DA L e o o N

(vl 2000176(022)

- State the - basic Tequirement to set up an intemet

connection. Briefly describe internet services, - 7

Internet - 8:58:0: Wit . wm mﬂd_&

mﬂ.mvmﬂma:aoao&aﬁ]mﬂﬂi
el Sl & av

7

m_asm__ %_ SUHIRAT & TR Virs @ R
aﬂ.@ﬁﬁﬂ_ﬂﬂf

~———

2,720
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Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022

(Scheme : NITTTR) |

(Branch : All Branches) |
~COMMUNICATION SKILLS-1

Time : Three Hours1 ' [ Maximum Marks :
‘ [Mzmmum Pass Marks : 25
Note : Answer all questlons unless mentloned otherwise.

Sectnon—-——A .

1. (a) Apply the verbs w1thm -brackets in Vtheir
~ appropriate form : iy ;" 3

() John (go)to the ofﬁce on foot every day.
(ii) - Rubber (not grow) in the cold climate.

(iii) Usually volcanoes (not erupt) without giving
plenty of warning,

(iv) A person who (sell) ladies hats is known as a
milliner.

(v) Oxygen '(form)' about the one fifth of the air.
It helps things to burn,

P.T. O.
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or ‘any’, ‘much’ or ‘many’ where it
5

Insert ‘some’

is necessary :
() Put........more mangoes in the basket.

(i) Not.......people have telephones in their
houses.

(iiij) Don’t make ............ nOise.

“(iv) Isthere ..... ...,..M.:vo:mna.m_ﬂ here ?

(V) How.... work can be mimwoa today ?

©

Fill in the blanks with vaOm_nonm “ 5
() *India became a free ooE:Q ............ .I5th
August 1947. , _

* (i) The parties settled the mmmcn..._.“ . Eano?nm

(v) 1 have been waiting “here

(C)

-

oo

(iii) mo says he will meet us ....... 10 O’ >clock.

(iv) Take the books....... the cupboard and m?w :

EoBSEoJ SE PR S

doctor ........... morning.

Rewrite the following sentences ‘o:oom?m the
correct from of verb from the cnwowﬁm R (T |

(i) It (is/are) the oo:omom that must 8_8 up the

burden.

c_v Rice and Curry cm\m_,nv the stable woom of

Bengalis, -~ - i)

- (i) All of the cement (is/are) of inferior quality.

*

for’/ ‘the

®)

.communication,

[3] 2000171(046)

(iv) Neither the truck nor the tractors (was/were)

repaired.
(v) The cattle (was/were) grazing the lawn,
Section—B
Attempt any one 0».) the following questions :

Explain 7 C’s of Communication. Give examples
to support. 8
Or

Define communication. Explain the process of

indicating clearly the role of

each constituent element, with the help of flow

chart.

_.>no=:% any.one of the following questions : 7

What are various Horancnm to improve listening

. ability ? Briefly discuss.

Or

‘What is the difference between hearing and

i _mmﬁn:m:m ? mxv_m:..

AT

“r ' Section—C

~ Attempt any one of the following questions :

Give the summary of the story “A LETTER TO

GOD”. o | 7

P.T.O.

~
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(a).

2000171(046)
[4]

Or

Why does Lencho call -the post o

“Bunch of Crooks” ?
for an act of charity ?

Why this is not an award
ph of about

Give your impression of it in a paragra
a hundred words. |
ing questions : 8

Attempt any one om ﬁ_.o mo:oi
"The Selfish

Give the mE:BmQ of the mﬁoQ

Q_unﬁ..
Or

" What motivated the hero of the story to ‘become

_“an astrologer in “An Astrologer's Day” ?

Section—D

- Answer any five question in one or two sentence

each: 10-

(i) ~ Why do scientists tend to use special words
even ﬁoam.om common use could do ?

Ev In which area has India mo:o U_onno::m

work ?

T Ec What are the two basic components of .En.

environment ? Explain caom,v_\

@iv) Why do g:%a:n:a avoid high risk

_ situations ?

ffice people a -

-

[51] 2000171(046)

|

_

_V

\. (v) How does the scientist get these special

words ?

(vii) What do entrepreneurs enjoy ? ..
(b)  Match the following list A with List B : 5

| A
w ; _ (vi) Who are effective leaders ?

M .

| 1  The act of coming Enormous
__ E  between especially in

: e order to influence a

i situation : ) .
‘2. Process of burning Sustain

w. : m.amv_nao keep Eu. Combustion

4. Immense o Intervention
Disaster

5. Ho_.:e_m accident -

__. - AS Fill in the Emswm with mwwnocnwnm forms ow the

following words : 5

Survival,  pollute, erosion, transformation,

expert, location.

G HE.& around & TiVer is ... by its water.

(ii) Zm:on omzsoﬁ be changed. A carpenter at the

best” MAY ..eeeeennas ioom into a piece of

furniture. - - .

P.T.O.
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-(iii) For a business to flourish, it must be .........
a good place.

(iv) Industrial wastes from the Barauni refinery
dis_chargéd into the Ganga caused ............. to
its water. ' '

- (v) .In these déys of -hectic competition only

- enterprising businessmen can .........

PRRBREE X
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2000174(015)

Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022
’ (Scheme : New)

(Branch : Civil, CSE, Elect., EEE, Et & T,
IT, Inst. Mmmg and Mme Surveymg,

- Al and ML)
APPLIED PHYSICS

Time : Three Hours] [Maxzmum Marks 70

_ L S [Mmzmum Pass Marks : 25

Note : Attempt all questlons In case of any doubt or

dispute the English version questlon should be
treated as final. '

WM$wé’rﬁN|ﬁﬂfmﬁm$ﬂﬂ3m

faare o1 Rafey § ool w9 &y @1 Siferw q
IR |
UNIT—I
(gme—1)
1. (@ What are fundamental quantitics and derived
quantity. Give example. 4
e AR i A e e ke
€ 7 SEreRy G|

P.T.O.



B T S W o e Ead
- T

B T R R TN
™ PP E NS

~""(b) Explin the applications of

(2] 2000174(015)
Dimensional analysis.
3

" ot e & 91

ula "of the following

2. Write the dimensional form
5

w ,H, is nan wﬂ_om om a sim

()

(©) QSSS:S& constant

3

(©)

(any five) :

() Momentum

Work

i B

d US&Q

Surface tension Asagel . L.
Eﬁ.c_mo e et B
>oon_on&o= At g

%@aiw%ﬁ%i%i
@ﬁ: ot :

®

Or
@ T

ple pendulum, effective length

of simple pendulum /7 and acceleration due to gravity
I [Fstablish: a relationship s_% aﬁ ‘help of - the
5

dimensional equation.

o+
'y

6. Explain centripetal

7 What is Young's modulus ©

| [3] 2000174(015)
W dled F aad B T, ded B g mam
| AR e R/ g R, o Rl whew @
TR ¥ T e xefa Fifg
UNIT—II
, )
4. Explain Ea msigo:m_ law of Newton. 6
e B ﬁm@ﬁ e @ WY
m é:a &mnsozoz cognon gandG. | 6
g % G n %ﬂd @mwf
Or
(#m)
| and centrifugal force with example.

6

yfeE dR a9 T 3
|
f elasticity ? Derive its

‘formula. 6

ﬁﬁﬂa%ﬁwﬁﬂﬂ%%_

P.T.0.

'
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(b)

(@)
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[4] (5] 2000174(015)
_/h
UNIT—III W gt &1 Tw Yam T, skl
(E@R—In) foflry s e o @ R ARG
Prove that : 8 hITT
+ i \ T
mmnh\r mw (iy W3 gfafds == ghe @ T
s 2 RG]
A . :
sin = (i) e ufafds a=fa @ = 2
for a prism, where A is m:m..a of ,vzm_s, pois (b) Writc the mam.n..mn:o: of the 3&: properties of
refractive index of prism and & is minimum ﬂmmmcammsgn wave and use of n_mn:oammngn
deviation. :
&
el B @ fore Rrg R : TTR U8 3 50 0 3 6 g i
, ferRag |
4 ﬁ>+mw
sin 5% UNIT-IV |
3 mm=|>| b : )

2 i : : 10. Explain the Coulomb’s law of clectrostatics with
ﬂﬂ>@ﬂﬂﬂsw :aﬂﬁ%ﬂ%w example. 6
9 &5 A fdga &1 _ figeifies @& T & FEW B SWEW G
Explain Dispersion by Prism. . 8 | : RHARY |
forom grar ot @wa& .&4 RIEEEN I S S s , _ 11. Establish an expression for the capacitance of parallel

. Or , o plate omvmnzoa 8
(ereran) ﬂm TIRA B GRS 3 R Ffm|
Draw a neat ray diagram of simple microscope. #
Write working  process and and give the @Eﬂv
. MMHMMHME its magnifying power when i image is b 12. Establish an expression for the capacitance of spherical
. T -4 - plate capacitor. 8
(i) - Least distance of 9&5& vision TR ﬂm WA @ el @ 3 < BT |
(i) Infinity \
P.T.O.
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13.

14.

15.

16.

EUEE |
What.do you mean by populatlon inversion, pumpmg
-and actlve system ‘7 S 8
: ’A';‘,Or ]
(ﬂw) L
EXplaln the constructlon and workmg of ruby laser
~with dlagram i 8
| Wﬁwaﬂwammﬁﬁaﬁvﬁawsm

2217,
e '6000 A. Given . : -

’[6] e 2000174(015)

Explain any five properties of magnetic lines of for,cesé

HITY |

UNIT——V' Lo

(fP—v)
What is photoelectrlc effect 2 Deﬁne the threshold
frequency.

wﬁgammw%?é%aﬁmﬁrﬁqﬁmﬁﬁ

Find the momentum of Photon havmg wavelength
;-——3><108m/sec and

g 66><1034Joule/sec ot TR o
6000 A TTH A BIeH B H o) wory AR |
fer 2 c=3>{108m/-sec Uq h=66x10-34

- “joule/sec. | 2 ] 3

200017(015) - . 2500

T @ Yl B fodl o Pl @ e
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Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022

(Scheme NITTTR)

. (Branch Chem., Civil, CSE, Elect., EEE
ET & T, IT, Inst., Mech., Metallurg_y,

Mining & Mine Survey)
APPLIED MATHEMATICS——I
Time : T hree Hours] . [Maxzmum Marks 70
[Mmzmum Pass Marks : 25
Note : All questlons are compulsory, unless mentioned

otherwise. In'case of any doubt or dlspute the
English version question should be treated as final.

T 9 s €, W qo 5 o 39e A T
Wﬁlmﬂﬁwzﬁﬂé@mﬁmﬁﬁmﬁ
ﬁaﬂﬁﬁwa}maﬁmmml

UH UNIT—I

(gPrE—1)

0 1 0 —i
A= and
where i2 = -1, then prove that (A + B)2 = A? + B2,

- P.T.O.



" 2000172(014) ; .

[2] wy )
IR , , (3] 2000172(014)
=l %ﬁm%o \@ _ Or
“l1 o0 i S8 B (aroren)
o w./ o R IR 5 | -+ Solve the equation with the help of determinants :
(A+B): =A2+B? | | \ 2x—3y+4z=—4
. Or . , x+2z=0
: @Emd b N | i —y+4z=2
If L iy S R ffYy & whaR 3 g S -
2 3 4 4 0 5 : ’ : . .. .NHIM.Y.T#N"I.&
A=| 5 7 9|andB=|120 L ; R ..
5 o il R e SO , | —y+4z=2
“then prove that T&wv. n,h_.w..kﬁ _. , . | Ve - UNIT-II
2 3 4 405 * 3. Find the value of : ; b 5
A=| 579 w1 2 0f, w ‘_,_ma,\k_+w.|,\a\|w
21,0 0 3 1 SR 0 p
w fig ARICS (AB) =BAL .hw,c?u..,.&-u 1 AT T R
2. Solve the equations by matrix method : i For il ol Or
x—2y+3z=2 S | (o) .
2x-3z=3 _ - . 3 ; L , _
x+y+z=0 { it e, o] Find the value of :
e Py & TR F ga R e g e (o)
x-2y+3z=2" i Fat: _., S p, L ﬁ¢s?+mvﬁa+3
2x -3z =3 _ 6 it ?+_Xma+wv o _
x+y+z=0 | - w0 (x +2)(3x +4) u
B
* g s, . P.T.0.
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[4] Ncco._ﬁna,_.c g
7 __ (51 2000172(014)
4. 1If: _
P Rna R COS Xowe a an ) Or
T (e
d | Find the point at which the S:mna to the curve
fhen find dx’ Co =~1++/4x -3 has its slope 2/3.
R . Fen T fog o0 BT T R @ y- 14y 3R
LT ! SR U W e () 2/3 ¥
Y = CO5X | _ : | 6. Find the maximum and minimum value of
w Y gmemate . y=x> —18x + 96x. g
dx . 4 _ Ly =18 +96x B A vd FfTe A9
Or 4 ¢ ) : mw__w_u _
. O A or
o : (o)
If x¥ = e*~, then prove that : . : Let sum of two positive integers is 20. Then find the
dy log, x A~ =f- - numbers if their product is maximum.
M. .,AI._omva i€t M _. ﬂ%&ﬁﬂa%ﬂ%syﬁi
‘ , . ol W S P A ST rmd AHad 8
A iu%ﬁﬁ@ﬂ%ﬁ@ﬂ L Wy ~ | | UNIT—IV
dy log, x P _ 1 (FPR—1v) .
= pars R nD : : ] e B , .
dx (1+1log, xv~ m 7. Equation of line is 3x—4y+10=0. Find the
NI . oL ~ following : . A . 6
e i P (i) - Slope 4
mﬁ_wlav s Tee i - (i) x and y intercepts : ME
: l
. ; M 3x—4y+10=0 %l wﬂ@@m
5. Find the equation of tangent and normal to the curve B el ﬁ&ﬁs =4y
§+Na+u\ 6 at (1, 2). . 8 m a il
¥ i) T a%a_v |
T xy+2x+y= mﬁ@wémﬂﬂgﬂqﬂq ¥ ) x Ty B AT
e &1 GHIBT ST ﬂwa_ : _ : . . P.T.O.

.
11 ’ e 2
1

S SOV N D ey G N W Ay e
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Or
: ) d@3G,2
Prove that the points (1, —2), 3, 6), (5, 10) and (3, 2)
are vertex of a parallelogram.

Rig #IRw & R (L-2). G, 6, 6 10) oI

(3, 2) U FHFR IS ® AN B

Find out- vertex, focus, axis and directrix of a

. parabola : . "8
IAH‘INVAH+wv :
WATT y = (x —2)(x+3) BT A, T, R %ﬁ.
waﬂﬁﬁ&%wa%wﬁ_
Or
@mﬂv

Find ecentricity, foci,
rectum of ellipse 2x2 +3y2 = 6.

- AT 2x2 + 332 = 6 B Sedwa, ﬂaﬂﬂ Wﬂ.ﬂﬁ

ﬁﬂsmﬁﬂ?ﬂﬂ%ﬂ%ﬂﬂmwﬂ%_

mﬁmoa.cn and _msmﬁr o», _wam.

UNIT—V
- EER—V)
Find median for the data given below : , 8
Mid Point Frequency
50. 10 -
40 12
30 40
20 .30
_ L0 =T g

[71 2000172(014)
a3 T Afmel @ forg wiitaet s Hifd -
[ e s

50 10

40 12

30 40

20 30

10 8

Or
(Srra)
w,wsa mode for the data given below :
Size (x) , Frequency ()

8 5
9 6

10 8
11 7 .
12 9
13 8
14 9
15 6




2000172(014)

[8]
47 R T sifwel @ forg g T I -
IR () R ()
8 5
9 6
10 8
11 7
12 9
13 8
14 9
15 6
10. Find Quartile Deviation (Q. Uv for the amﬁm m_<o=
below : 8
Month Income (in )
1 739
2 40
3 40
: 4 41
5 41
6 42
7 ) 42
B 43
9 43 .
10 44
11 44
. 12 45

——————

2000172(014)

@ foy aqede foder & TR

I R )

14

39
40
40
41
41
42
42
43
43
44
44

45 L

Find Standard Deviation (S. D.) for the data given
below using short-cut method :

15, 18, 13, 20, 17, 10, 16,-19, 22, 20

I R R sieel @ g T Fe a1 T g
ffy T I PO :

15, 18, 13, 20, 17, 10, 16, 19, 22, 20

2000172(014) |

3,800
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2000178(011)

Dip. in Engg. (Fifst Semester)
EXAMINATION, Nov.-Dec., 2022

(Scheme : NITTTR) |
(Branch : Chem., CSE ET & T, IT Inst

Mech. Metallurgy, Mining)
- APPLIED CHEMISTRY

Time : Three Hours ] , [ Maxzmum Marks : 70

- [Minimum Pass Marks : 25
Note : All questlons are compulsory. In case of any doubt

or dispute the English’ versxon questlon should be
treated as final. :

*ammarﬁam%rﬁmaﬂmzammﬁm
@ Rafr % ol W & ve @ sfw W

RSN
UNIT
| (gPR—I)
1. (a) Find the four quantum numbers of the following :
4 ¢’ 4x2=8
@ 3dS

P.T.0,



R _ 2000178(011) . [31 2000178(011)

[2] w_ﬂ@@miiagﬁ@%ﬁ
(i) 5r° . () UeHdNe dy
(iii) 4s' e (i) mafe dy
@) 6p° o e () SuwEE 9
Eﬂiﬂ@ﬂ @ IRI FEeH Wt W5 f: (b) - Define 3&3@«: bond and explain its types with

\ A Lo * example. 6

. o _ | ..wﬂﬂﬂdmﬁﬂqgﬁ%amﬁmﬁ%g
(i) 5/ . e P P ﬂ%ﬁﬂwﬂﬁdﬂﬂf
G 4s' IR , | B .
(iv) 6p°% EY, s : | . (g@E—)

?v Explain the mo:oé_am (any 33 L o, walm THE " 2. (a) U.&..Eo :m&:omm. of water. Explain mdﬁ» method
S >=?m=m EEo_Eo . iy, g S R for moagm,:mmo: of hardness of water. . 8
Qc mn_mnawonmmcuonnw_:&\ caso_v_o | W P FoRal @ GRAING NN wa @
* (iii) Hund'srule - - E FoRaT AUk & EDTA R @ oy
?@@diiaa_g@% B S PR e
8= 5 T i e
cv .ﬂm.%_u_.mi Ll m:w.mmm_.a ﬁ Eﬂ._..d Sh : mxv_&s the process of Municipal water n.omn:oa. :
aa m&ﬁw_ﬁ o e , e ﬂzﬂ@ﬁﬁaﬁzﬂn@ﬂﬂ%_

Or G e B 3 Difference between (any two) : 2356
g . @Ema _ & : _. e ‘ b S Hrozsov_mm:o and H:Q_BomanSm

(@ Explain the following (any o) 28t (i) B.0.D.andC.0.D. ,

® Covalent vo:a. ; PR A a (iii) Mﬁ“““”“ mMWM”Ba:mm:os and og%smmco:
" (i) Tonic bond - | s: g
mev Oo.on&uwa bond - $ | ; i b 1.0,

i ) " 4 . ,A
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Describe .:.Q.Booocu_o ,>=ovN ,om
Insulator. . 7

" Electric

 alow oy o e T

(b)

P

memE the following (any .?sv :
() Hydrogen Electrode

(ii) Secondary Baitery

(i) Calomel Electrode -
Pl § ¥ 5l & W amen ﬂ@z

e wa..m.uq.

- () TS oGS

4 @

(i) fedie e

(iii) D FAwIe
(EF—1v)
‘Write the name of any mo ores of Iron and

‘explain the mechanism of ‘€xtraction of metal
from any one Tron ore, 8
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foegt @1 A et & W frfey W e @
e e § U @ Pt A ARl @)

MEEIEL
Or

(o)

- Write the name of any rwo ores of copper.

Explain the mechanism of extraction of metal
from any one copper ore.

fbel QY DR SFed! & A fafay 1@ e uw
BN 3D W a1 & (THI0 B ey Bl
Y |
Write an essay on Cement or Alloy. 6
e ar fsmrg w e ey
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‘Draw diagram of Bomb calorimeter and explain.

8
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Or
m
Explain Carbonization of Coke by Otto Hofman's
oven,
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(b) Explain the following (any wo) . Ix3=6

(i) Theory of Lubricant

(i) Flash and fire point

(iii) Pro;(imate analysis of coal
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